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<EER>
flllX PN} 30 3 2 5 0.17 0.30
INLE 30 6 8 14 047 0.27
KHERX K% 30 12 6 18 0.60 0.20
EXS 30 1 0 1 0.03 0.03
HEHAX FiET 30 1 3 4 0.13 0.17
LN 30 3 2 5 0.17 0.30
Z2EX 2z 60 14 11 25 0.42 0.25
RIEX PN 30 9 3 12 0.40 0.22
BiX R 90 14 11 25 0.28 0.32
it 60 7 4 11 0.18 0.27
BfX raBam 60 11 9 20 0.33 0.23
E:TEES 30 2 2 4 0.13 0.27
IFRINEK IR 60 27 11 38 0.63 0.88
BfEmM 60 9 10 19 0.32 0.40
Al a1l 90 28 11 39 043 0.54
e B 60 9 4 13 0.22 0.18
T Fi:IAo 30 4 8 0.27 0.18
ETETH T 90 32 13 45 0.50 0.48
mEM BE 30 12 5 17 0.57 0.30
<PER>
IERR EoEE 30 4 3 7 0.23 0.50
BIKX B 30 5 5 10 0.33 0.07
TN 30 6 2 8 0.27 0.20
B E 3 TEES 30 6 5 11 0.37 0.40
E3jvans) EhEE 30 7 4 11 0.37 0.27
<TEH>
XER IE <Lu957k 30 12 3 15 0.50 0.37
F—ro5Tk 30 9 13 22 0.73 0.83
AVFYT 30 10 4 14 047 0.40
GST49GT—Y 30 11 13 24 0.80 1.17
BREX BATLE 30 7 1 8 0.27 0.37
IERR BAITE 30 20 0 20 0.67 0.87
HEAR weaTH 30 4 1 5 0.17 0.08
REX hEHITE 30 8 1 9 0.30 0.23
FIIX NI 30 10 0 10 0.33 0.43
RIEX tEeeT% 30 10 0 10 0.33 0.50
B AFFT%E 30 10 0 10 0.33 0.30
INEFHT INEHTE #W 30 21 1 22 0.73 0.25
EX-EF 30 9 0 9 0.30 0.23
<B%>
HEAX E= 30 5 4 9 0.30 0.47
Rl BE 30 9 7 16 0.53 0.67
B BiE 30 25 9 34 1.13 1.10
FFe T B 30 13 4 17 0.57 0.60
<HER>
HEZHHT  HBAT 30 6 1 7 0.23 0.33
I mREE 30 15 6 21 0.70 0.53
<EER>
EELS i 60] 7] 8] 25] 0.42| 047
<TEBFHl  BEfAIHI>
AXHRX AV : [k S 30 4 3 7 0.23 0.27
EETY 30 5 1 6 0.20 0.10
X RE 60 23 13 36 0.60 0.58
RIEX wIBEE 30 8 4 12 0.40 0.50
Etath FwHe 90 14 11 25 0.28 0.56
HABX™T HABXEKRSE 60 24 11 35 0.58 0.47




